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1 246 187.54 20 218 77.58
2 251 89.32 21 205 72.95
3 239 85.05 22 181 64.41
4 249 88.61 23 201 71.53
5 227 80.78 24 214 76.16
6 251 89.32 25 92 32.74
7 198 70.46 26 41 14.59
8 210 74.73 27 237 84.34
9 152 54.09 28 244 86.83
10 171 60.85 29 189 67.26
11 254 90.39 30 214 76.16
12 260 92.53 31 214 76.16
13 200 71.17 32 125 44.48
14 191 67.97 33 247 87.90
15 250 88.97 34 244 86.83

16 193 68.68 35 224 79.72
17 248 88.26 36 231 82.21
18 197 70.11 37 178 63.35
19 256 91.10
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3% L= 0.0174532, (<=)? = 0.0003046, (<~—)® = 0.0000054
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(1)4 (2)2 (3)3 (4)4 (5)6
(6)3.15 (7)3.14625 (8)3.15 (9)3.14 (10)2
(11)76 (12)3 (13) x* +10x> +36x* +56x -1 (14)3.0
L Lot (x-8)? |
(19)2+ — (x = 8) (16)2+ - (x 8)-—eg -9 (17)2.01 (18)2.00995
(19)3 (20) (x—-2)* +5(x—2) (21)4.02 (22)4.01995
(23) ~/§2 +1 (24) \/5_4 —1 25)410-245  (26) af5-245 @7)x
(28)0.0174532... (29)0.01745 (30)5 (31)3
1, 1 5 5 7 24 17 1747
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X+ x*— 2x - xcosl08° =10 — 245 2x2(1+i§4—'-1) =10 — 245
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+





